
Proving Congruent Triangles 
1.   Given:  X is midpoint of AG and NR  
 Prove:  ∆ANX ≅  ∆GRX 

 

 
 

Statements Reasons 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

2.   Given:  AC BC≅ , CD AB⊥    
Prove:  ∆ACD ≅  ∆BCD 

 

 

Statements Reasons 
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3.  Given:  TQ  is the median of TRS∆ , TR TS≅  

Prove:  TRQ TSQ∠ ≅ ∠   
 
 
 
 
 

Statements Reasons 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

  

 

 

4. Given: BD bisects ABC∠ , and ADC∠  
Prove:    ABD CBD∆ ≅ ∆  
 

Statements Reasons 
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5. Given:  TQR RST∠ ≅ ∠ ,QR TS  
Prove:  ∆QRT ≅  ∆STR 
 
 

Statements Reasons 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

                                   

 

 

6. Given: DA AB⊥ , CB AB⊥ , DA CB≅ , 

    M is the midpoint of AB  
Prove:  ΔADM ≅ ΔBCM 
 
 
 
 

Statements Reasons 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

Q R 

S T 

A B 

C D 

M 

X =>

& Plan : AAS

= X
&

- -

Plan : SAS T
Il 11[



Introducing a new definition! 

Since we are proving two triangles congruent, then it follows that their corresponding parts are 
congruent.  We typically abbreviate this in a proof using CPCTC which stands for: 

__________________________________________________________________________ 

  

7. Given:   TQ bisects RTS∠ , TQ RS⊥  

Prove:    RQ SQ≅  
 
 
 
 

Statements Reasons 
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8.  Given:  FED CBA∠ ≅ ∠ , ≅DC AF ,FD DE⊥ , ⊥CA AB  

 Prove:  ≅EF BC  
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9. Given:  

WZ  is the perpendicular bisector of UX ,  

∠ ≅ ∠1 2 , ≅WV WY  
Prove:  ∠ ≅ ∠V Y  

 

Statements Reasons 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

  

10. Given:  ∠ ≅ ∠ABG EDF , GF  bisects BD  
Prove:  GB FD≅  
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<latexit sha1_base64="S3Fcm/RbS682ND1KxUnpUl0qfGE=">AAAB6HicbZC7SgNBFIbPxluMt6ilIItBsAq7FjGdARvLBMwFkiXMTs4mY2Znl5lZISwprWwsFLH1KVL5EHY+gy/h5FJo9IeBj/8/hznn+DFnSjvOp5VZWV1b38hu5ra2d3b38vsHDRUlkmKdRjySLZ8o5ExgXTPNsRVLJKHPsekPr6Z58w6lYpG40aMYvZD0BQsYJdpYtUY3X3CKzkz2X3AXULh8n9S+7o8n1W7+o9OLaBKi0JQTpdquE2svJVIzynGc6yQKY0KHpI9tg4KEqLx0NujYPjVOzw4iaZ7Q9sz92ZGSUKlR6JvKkOiBWs6m5n9ZO9FB2UuZiBONgs4/ChJu68iebm33mESq+cgAoZKZWW06IJJQbW6TM0dwl1f+C43zolsqlmpOoVKGubJwBCdwBi5cQAWuoQp1oIDwAE/wbN1aj9aL9TovzViLnkP4JevtG3qJkSM=</latexit>

V

<latexit sha1_base64="/qsRO/qeCJSfAww1P5cuVMQalIw=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7CjGdARvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sykUnm7Pz9lRkGZw55K4+xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQOXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AUV9kQA=</latexit>

3
<latexit sha1_base64="z++EO8F4zxzNwHo6PqLx5b13l+w=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7IjGdARvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sykUnm7Pz9lRkGZw55K4+xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQOXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AUcBkQE=</latexit>

4

<latexit sha1_base64="AA2vJKL7T8OJSd4+jVpu/qO3sFM=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdARvLBMwFkxBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gapLX71EqHgY3ehhh26e9gHucUW2sym0nm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIJrKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AYCZkSc=</latexit>

Z
<latexit sha1_base64="sfCWW08ktZdEKVsSXwxaQTrP1ng=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdARvLBMxFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gapLX71EqHgY3ehhh26e9gHucUW2sym0nm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIJrKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AX8VkSY=</latexit>

Y

<latexit sha1_base64="X/CPqguZp1WhIEXC3fSIyQX0n0s=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdARvLBMwFkiXMTs4mY2YvzMwKYUlpZWOhiK1PkcqHsPMZfAknl0KjPwx8/P85zDnHiwVX2rY/rczK6tr6RnYzt7W9s7uX3z9oqCiRDOssEpFseVSh4CHWNdcCW7FEGngCm97wapo371AqHoU3ehSjG9B+yH3OqDZWrdXNF+yiPRP5C84CCpfvk9rX/fGk2s1/dHoRSwIMNRNUqbZjx9pNqdScCRznOonCmLIh7WPbYEgDVG46G3RMTo3TI34kzQs1mbk/O1IaKDUKPFMZUD1Qy9nU/C9rJ9ovuykP40RjyOYf+YkgOiLTrUmPS2RajAxQJrmZlbABlZRpc5ucOYKzvPJfaJwXnVKxVLMLlTLMlYUjOIEzcOACKnANVagDA4QHeIJn69Z6tF6s13lpxlr0HMIvWW/ffZGRJQ==</latexit>

X
<latexit sha1_base64="3So0K8zP2A8pr6ClFgs2sMujXc0=">AAAB6HicbZC7SgNBFIbPxluMt6ilIItBsAq7FjGdARvLBNwkkIQwOzmbjJmdXWZmhbCktLKxUMTWp0jlQ9j5DL6Ek0uh0R8GPv7/HOac48ecKe04n1ZmZXVtfSO7mdva3tndy+8f1FWUSIoejXgkmz5RyJlATzPNsRlLJKHPseEPr6Z54w6lYpG40aMYOyHpCxYwSrSxal43X3CKzkz2X3AXULh8n9S+7o8n1W7+o92LaBKi0JQTpVquE+tOSqRmlOM4104UxoQOSR9bBgUJUXXS2aBj+9Q4PTuIpHlC2zP3Z0dKQqVGoW8qQ6IHajmbmv9lrUQH5U7KRJxoFHT+UZBwW0f2dGu7xyRSzUcGCJXMzGrTAZGEanObnDmCu7zyX6ifF91SsVRzCpUyzJWFIziBM3DhAipwDVXwgALCAzzBs3VrPVov1uu8NGMteg7hl6y3b3kFkSI=</latexit>

U
<latexit sha1_base64="Ltc312+VDmllRL/Q/3f/NUIXWCs=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdARvLBMwFkiXMTs4mY2YvzMwKYUlpZWOhiK1PkcqHsPMZfAknl0KjPwx8/P85zDnHiwVX2rY/rczK6tr6RnYzt7W9s7uX3z9oqCiRDOssEpFseVSh4CHWNdcCW7FEGngCm97wapo371AqHoU3ehSjG9B+yH3OqDZWrdnNF+yiPRP5C84CCpfvk9rX/fGk2s1/dHoRSwIMNRNUqbZjx9pNqdScCRznOonCmLIh7WPbYEgDVG46G3RMTo3TI34kzQs1mbk/O1IaKDUKPFMZUD1Qy9nU/C9rJ9ovuykP40RjyOYf+YkgOiLTrUmPS2RajAxQJrmZlbABlZRpc5ucOYKzvPJfaJwXnVKxVLMLlTLMlYUjOIEzcOACKnANVagDA4QHeIJn69Z6tF6s13lpxlr0HMIvWW/ffA2RJA==</latexit>
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11. Given:  B D∠ ≅ ∠ , AC BA⊥ , DC AC⊥  

Prove:  AB CD≅  
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

12. Given: ≅AB AC , CD  bisects AB , BE  bisects AC  
Prove:   ≅CD BE  
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<latexit sha1_base64="pZRJoHk8Wl8D1nHBXUCwVPvgxiQ=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdAS0sEzAXSEKYnZxNxsxemJkVwpLSysZCEVufIpUPYecz+BJOLoUm/jDw8f/nMOccNxJcadv+slIrq2vrG+nNzNb2zu5edv+gpsJYMqyyUISy4VKFggdY1VwLbEQSqe8KrLuDq0lev0epeBjc6mGEbZ/2Au5xRrWxKtedbM7O21ORZXDmkLv8GFe+H47H5U72s9UNWexjoJmgSjUdO9LthErNmcBRphUrjCgb0B42DQbUR9VOpoOOyKlxusQLpXmBJlP3d0dCfaWGvmsqfar7ajGbmP9lzVh7xXbCgyjWGLDZR14siA7JZGvS5RKZFkMDlEluZiWsTyVl2twmY47gLK68DLXzvFPIFyp2rlSEmdJwBCdwBg5cQAluoAxVYIDwCM/wYt1ZT9ar9TYrTVnznkP4I+v9B19BkRE=</latexit>

D

<latexit sha1_base64="Dp7sTckmi1HjykdRJcKlsEDlSmk=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdERvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sylUnm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AVq1kQ4=</latexit>

A

<latexit sha1_base64="o78y2gbGtT/Wn3R63kMADHVz5is=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdQRvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sylUnm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AVw5kQ8=</latexit>

B
<latexit sha1_base64="UA0kvv+He3Zumy4Y9i1NJV7dzfY=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdgTSWCZgLJCHMTs4mY2YvzMwKYUlpZWOhiK1PkcqHsPMZfAknl0ITfxj4+P9zmHOOGwmutG1/Wam19Y3NrfR2Zmd3b/8ge3hUV2EsGdZYKELZdKlCwQOsaa4FNiOJ1HcFNtxheZo37lEqHga3ehRhx6f9gHucUW2sarmbzdl5eyayCs4Cctcfk+r3w+mk0s1+tnshi30MNBNUqZZjR7qTUKk5EzjOtGOFEWVD2seWwYD6qDrJbNAxOTdOj3ihNC/QZOb+7kior9TId02lT/VALWdT87+sFWuv2El4EMUaAzb/yIsF0SGZbk16XCLTYmSAMsnNrIQNqKRMm9tkzBGc5ZVXoX6Zdwr5QtXOlYowVxpO4AwuwIErKMENVKAGDBAe4RlerDvryXq13ualKWvRcwx/ZL3/AF29kRA=</latexit>

C

<latexit sha1_base64="Uvmz+VucDj0CoHNi2uWXt5jBMSw=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdAREsEzAXSEKYnZxNxsxemJkVwpLSysZCEVufIpUPYecz+BJOLoUm/jDw8f/nMOccNxJcadv+slIrq2vrG+nNzNb2zu5edv+gpsJYMqyyUISy4VKFggdY1VwLbEQSqe8KrLuDq0lev0epeBjc6mGEbZ/2Au5xRrWxKtedbM7O21ORZXDmkLv8GFe+H47H5U72s9UNWexjoJmgSjUdO9LthErNmcBRphUrjCgb0B42DQbUR9VOpoOOyKlxusQLpXmBJlP3d0dCfaWGvmsqfar7ajGbmP9lzVh7xXbCgyjWGLDZR14siA7JZGvS5RKZFkMDlEluZiWsTyVl2twmY47gLK68DLXzvFPIFyp2rlSEmdJwBCdwBg5cQAluoAxVYIDwCM/wYt1ZT9ar9TYrTVnznkP4I+v9B2DFkRI=</latexit>
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Time to Step it Up a Notch!! 
Isosceles Triangle Theorem 
 
 
 
 
 
 

 

Isosceles Triangle Theorem - Corollary 
 
 
 
 
 
 

 

13. Given:  ≅CA CE , ≅BA DE  
Prove:  ∠ ≅ ∠1 2  
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1 2 

<latexit sha1_base64="Dp7sTckmi1HjykdRJcKlsEDlSmk=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdERvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sylUnm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AVq1kQ4=</latexit>

A

<latexit sha1_base64="o78y2gbGtT/Wn3R63kMADHVz5is=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdQRvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sylUnm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AVw5kQ8=</latexit>

B

<latexit sha1_base64="UA0kvv+He3Zumy4Y9i1NJV7dzfY=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdgTSWCZgLJCHMTs4mY2YvzMwKYUlpZWOhiK1PkcqHsPMZfAknl0ITfxj4+P9zmHOOGwmutG1/Wam19Y3NrfR2Zmd3b/8ge3hUV2EsGdZYKELZdKlCwQOsaa4FNiOJ1HcFNtxheZo37lEqHga3ehRhx6f9gHucUW2sarmbzdl5eyayCs4Cctcfk+r3w+mk0s1+tnshi30MNBNUqZZjR7qTUKk5EzjOtGOFEWVD2seWwYD6qDrJbNAxOTdOj3ihNC/QZOb+7kior9TId02lT/VALWdT87+sFWuv2El4EMUaAzb/yIsF0SGZbk16XCLTYmSAMsnNrIQNqKRMm9tkzBGc5ZVXoX6Zdwr5QtXOlYowVxpO4AwuwIErKMENVKAGDBAe4RlerDvryXq13ualKWvRcwx/ZL3/AF29kRA=</latexit>

C

<latexit sha1_base64="Uvmz+VucDj0CoHNi2uWXt5jBMSw=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdAREsEzAXSEKYnZxNxsxemJkVwpLSysZCEVufIpUPYecz+BJOLoUm/jDw8f/nMOccNxJcadv+slIrq2vrG+nNzNb2zu5edv+gpsJYMqyyUISy4VKFggdY1VwLbEQSqe8KrLuDq0lev0epeBjc6mGEbZ/2Au5xRrWxKtedbM7O21ORZXDmkLv8GFe+H47H5U72s9UNWexjoJmgSjUdO9LthErNmcBRphUrjCgb0B42DQbUR9VOpoOOyKlxusQLpXmBJlP3d0dCfaWGvmsqfar7ajGbmP9lzVh7xXbCgyjWGLDZR14siA7JZGvS5RKZFkMDlEluZiWsTyVl2twmY47gLK68DLXzvFPIFyp2rlSEmdJwBCdwBg5cQAluoAxVYIDwCM/wYt1ZT9ar9TYrTVnznkP4I+v9B2DFkRI=</latexit>

E

<latexit sha1_base64="pZRJoHk8Wl8D1nHBXUCwVPvgxiQ=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdAS0sEzAXSEKYnZxNxsxemJkVwpLSysZCEVufIpUPYecz+BJOLoUm/jDw8f/nMOccNxJcadv+slIrq2vrG+nNzNb2zu5edv+gpsJYMqyyUISy4VKFggdY1VwLbEQSqe8KrLuDq0lev0epeBjc6mGEbZ/2Au5xRrWxKtedbM7O21ORZXDmkLv8GFe+H47H5U72s9UNWexjoJmgSjUdO9LthErNmcBRphUrjCgb0B42DQbUR9VOpoOOyKlxusQLpXmBJlP3d0dCfaWGvmsqfar7ajGbmP9lzVh7xXbCgyjWGLDZR14siA7JZGvS5RKZFkMDlEluZiWsTyVl2twmY47gLK68DLXzvFPIFyp2rlSEmdJwBCdwBg5cQAluoAxVYIDwCM/wYt1ZT9ar9TYrTVnznkP4I+v9B19BkRE=</latexit>

D

vertex angle
If base angle E, legs Eleg leg
--base angles
base

If legs E, base angles

5. %
1. TA E cE

1
. Given

2. 2 . Sey Addition

3.B+AEIDe 3 .

Tran

& BAETTE ↑ given

⑤ 5
.

TBE T
5

. Subtraction (line 4 fromlabs)

6. 1) = L2 6 .
Isosc . A The

(corralary)



14. Given:  AD BE≅ , CD CE≅ , ADEB


 
Prove:  AC BC≅  
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

15. Given:  AD FB≅ , BDE AFG∠ ≅ ∠ AC BC≅  
Prove:   AFG BDE∆ ≅ ∆  
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Statements Reasons 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Statements Reasons 
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<latexit sha1_base64="Uvmz+VucDj0CoHNi2uWXt5jBMSw=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdAREsEzAXSEKYnZxNxsxemJkVwpLSysZCEVufIpUPYecz+BJOLoUm/jDw8f/nMOccNxJcadv+slIrq2vrG+nNzNb2zu5edv+gpsJYMqyyUISy4VKFggdY1VwLbEQSqe8KrLuDq0lev0epeBjc6mGEbZ/2Au5xRrWxKtedbM7O21ORZXDmkLv8GFe+H47H5U72s9UNWexjoJmgSjUdO9LthErNmcBRphUrjCgb0B42DQbUR9VOpoOOyKlxusQLpXmBJlP3d0dCfaWGvmsqfar7ajGbmP9lzVh7xXbCgyjWGLDZR14siA7JZGvS5RKZFkMDlEluZiWsTyVl2twmY47gLK68DLXzvFPIFyp2rlSEmdJwBCdwBg5cQAluoAxVYIDwCM/wYt1ZT9ar9TYrTVnznkP4I+v9B2DFkRI=</latexit>

E
<latexit sha1_base64="Dp7sTckmi1HjykdRJcKlsEDlSmk=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdERvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sylUnm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AVq1kQ4=</latexit>

A
<latexit sha1_base64="o78y2gbGtT/Wn3R63kMADHVz5is=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdQRvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sylUnm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AVw5kQ8=</latexit>

B

<latexit sha1_base64="UA0kvv+He3Zumy4Y9i1NJV7dzfY=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdgTSWCZgLJCHMTs4mY2YvzMwKYUlpZWOhiK1PkcqHsPMZfAknl0ITfxj4+P9zmHOOGwmutG1/Wam19Y3NrfR2Zmd3b/8ge3hUV2EsGdZYKELZdKlCwQOsaa4FNiOJ1HcFNtxheZo37lEqHga3ehRhx6f9gHucUW2sarmbzdl5eyayCs4Cctcfk+r3w+mk0s1+tnshi30MNBNUqZZjR7qTUKk5EzjOtGOFEWVD2seWwYD6qDrJbNAxOTdOj3ihNC/QZOb+7kior9TId02lT/VALWdT87+sFWuv2El4EMUaAzb/yIsF0SGZbk16XCLTYmSAMsnNrIQNqKRMm9tkzBGc5ZVXoX6Zdwr5QtXOlYowVxpO4AwuwIErKMENVKAGDBAe4RlerDvryXq13ualKWvRcwx/ZL3/AF29kRA=</latexit>

C

<latexit sha1_base64="pZRJoHk8Wl8D1nHBXUCwVPvgxiQ=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdAS0sEzAXSEKYnZxNxsxemJkVwpLSysZCEVufIpUPYecz+BJOLoUm/jDw8f/nMOccNxJcadv+slIrq2vrG+nNzNb2zu5edv+gpsJYMqyyUISy4VKFggdY1VwLbEQSqe8KrLuDq0lev0epeBjc6mGEbZ/2Au5xRrWxKtedbM7O21ORZXDmkLv8GFe+H47H5U72s9UNWexjoJmgSjUdO9LthErNmcBRphUrjCgb0B42DQbUR9VOpoOOyKlxusQLpXmBJlP3d0dCfaWGvmsqfar7ajGbmP9lzVh7xXbCgyjWGLDZR14siA7JZGvS5RKZFkMDlEluZiWsTyVl2twmY47gLK68DLXzvFPIFyp2rlSEmdJwBCdwBg5cQAluoAxVYIDwCM/wYt1ZT9ar9TYrTVnznkP4I+v9B19BkRE=</latexit>

D

Plan : need to show LAELB

by first proving E11DADC EABE

Plan
A B
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FD
* 11 +

Sty ,
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E

% Ade FB 1 given
-

2. DFEPF 2 . Reflexive

3. Ed+f = F+ If 3
.
Addition (Steps 1x2)

4
. Seg Add

F 5 Trans (or Subst)

① G
. LBDEELAFG 6. Given

& I. EDEELDFG 7. Isosc
.

A Thm (corr.)
8 A AFG EABDE

8. ASA



 
16. Given:  ∠ ≅ ∠MAD MBC , AMC BMD∠ ≅ ∠  

  M is the midpoint of DC  
Prove:  ∆CED is isosceles 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Statements Reasons 
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X t

Plan : need to show < CELD

by proving ACMBEADMA
If E

(AAS)



17. Given:  GH and JL  bisect each other 
Prove:  JQM LPM∆ ≅  
 

 

 
 
 

 

 

 

 

 

 

 

 

 

 
 

18. Given:  ||KP MN , ≅ML PO , ∠ ≅ ∠1 2  
Prove:  ∆ ≅ ∆MON PLK  
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<latexit sha1_base64="BsPlx0/mHtZilNL6G3AecpfmEeQ=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdARvBJgFzgSSE2cnZZMzshZlZISwprWwsFLH1KVL5EHY+gy/h5FJo4g8DH/9/DnPOcSPBlbbtLyu1srq2vpHezGxt7+zuZfcPaiqMJcMqC0UoGy5VKHiAVc21wEYkkfquwLo7uJrk9XuUiofBrR5G2PZpL+AeZ1Qbq3LTyebsvD0VWQZnDrnLj3Hl++F4XO5kP1vdkMU+BpoJqlTTsSPdTqjUnAkcZVqxwoiyAe1h02BAfVTtZDroiJwap0u8UJoXaDJ1f3ck1Fdq6Lum0qe6rxaziflf1oy1V2wnPIhijQGbfeTFguiQTLYmXS6RaTE0QJnkZlbC+lRSps1tMuYIzuLKy1A7zzuFfKFi50pFmCkNR3ACZ+DABZTgGspQBQYIj/AML9ad9WS9Wm+z0pQ17zmEP7LefwBp3ZEY</latexit>

K
<latexit sha1_base64="R80d9jvs7ye2G1wFtvtOOeJaPWM=">AAAB6HicbVC7SgNBFL0bXzG+opaCLAbBKuxaxHQGbCwTMA9IFpmd3E3GzM4uM7NCWFJa2VgoYutXpPIj7PwGf8LJo9DEAxcO55zLffgxZ0o7zpeVWVldW9/Ibua2tnd29/L7Bw0VJZJinUY8ki2fKORMYF0zzbEVSyShz7HpD64mfvMepWKRuNHDGL2Q9AQLGCXaSLXqbb7gFJ0p7GXizknh8mNc+344Hpv8Z6cb0SREoSknSrVdJ9ZeSqRmlOMo10kUxoQOSA/bhgoSovLS6aIj+9QoXTuIpCmh7an6uyMloVLD0DfJkOi+WvQm4n9eO9FB2UuZiBONgs4GBQm3dWRPrra7TCLVfGgIoZKZXW3aJ5JQbX6TM09wF09eJo3zolsqlmpOoVKGGbJwBCdwBi5cQAWuoQp1oIDwCM/wYt1ZT9ar9TaLZqx5zyH8gfX+A3FxkR0=</latexit>

P

<latexit sha1_base64="zQUo3Jnur0GRJ1P7nrUGNpLULD0=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdARsbIQFzgSSE2cnZZMzshZlZISwprWwsFLH1KVL5EHY+gy/h5FJo4g8DH/9/DnPOcSPBlbbtLyu1srq2vpHezGxt7+zuZfcPaiqMJcMqC0UoGy5VKHiAVc21wEYkkfquwLo7uJrk9XuUiofBrR5G2PZpL+AeZ1Qbq3LTyebsvD0VWQZnDrnLj3Hl++F4XO5kP1vdkMU+BpoJqlTTsSPdTqjUnAkcZVqxwoiyAe1h02BAfVTtZDroiJwap0u8UJoXaDJ1f3ck1Fdq6Lum0qe6rxaziflf1oy1V2wnPIhijQGbfeTFguiQTLYmXS6RaTE0QJnkZlbC+lRSps1tMuYIzuLKy1A7zzuFfKFi50pFmCkNR3ACZ+DABZTgGspQBQYIj/AML9ad9WS9Wm+z0pQ17zmEP7LefwBs5ZEa</latexit>

M
<latexit sha1_base64="/ZR+w+4FmQ8lcVNARF1JPtI0Z/c=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdARsrScBcIAlhdnI2GTN7YWZWCEtKKxsLRWx9ilQ+hJ3P4Es4uRSa+MPAx/+fw5xz3EhwpW37y0qtrK6tb6Q3M1vbO7t72f2DmgpjybDKQhHKhksVCh5gVXMtsBFJpL4rsO4OriZ5/R6l4mFwq4cRtn3aC7jHGdXGqtx0sjk7b09FlsGZQ+7yY1z5fjgelzvZz1Y3ZLGPgWaCKtV07Ei3Eyo1ZwJHmVasMKJsQHvYNBhQH1U7mQ46IqfG6RIvlOYFmkzd3x0J9ZUa+q6p9Knuq8VsYv6XNWPtFdsJD6JYY8BmH3mxIDokk61Jl0tkWgwNUCa5mZWwPpWUaXObjDmCs7jyMtTO804hX6jYuVIRZkrDEZzAGThwASW4hjJUgQHCIzzDi3VnPVmv1tusNGXNew7hj6z3H25pkRs=</latexit>

N

<latexit sha1_base64="RVFCejQH/HwQznKBhmJHIcvJV3s=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdARsLiwTMBZIQZidnkzGzF2ZmhbCktLKxUMTWp0jlQ9j5DL6Ek0uhiT8MfPz/Ocw5x40EV9q2v6zUyura+kZ6M7O1vbO7l90/qKkwlgyrLBShbLhUoeABVjXXAhuRROq7Auvu4GqS1+9RKh4Gt3oYYdunvYB7nFFtrMpNJ5uz8/ZUZBmcOeQuP8aV74fjcbmT/Wx1Qxb7GGgmqFJNx450O6FScyZwlGnFCiPKBrSHTYMB9VG1k+mgI3JqnC7xQmleoMnU/d2RUF+poe+aSp/qvlrMJuZ/WTPWXrGd8CCKNQZs9pEXC6JDMtmadLlEpsXQAGWSm1kJ61NJmTa3yZgjOIsrL0PtPO8U8oWKnSsVYaY0HMEJnIEDF1CCayhDFRggPMIzvFh31pP1ar3NSlPWvOcQ/sh6/wFrYZEZ</latexit>

L

<latexit sha1_base64="6ASlSIJjYILNwr1uRpCpMQxONfY=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdARs7EzAXSEKYnZxNxsxemJkVwpLSysZCEVufIpUPYecz+BJOLoUm/jDw8f/nMOccNxJcadv+slIrq2vrG+nNzNb2zu5edv+gpsJYMqyyUISy4VKFggdY1VwLbEQSqe8KrLuDq0lev0epeBjc6mGEbZ/2Au5xRrWxKjedbM7O21ORZXDmkLv8GFe+H47H5U72s9UNWexjoJmgSjUdO9LthErNmcBRphUrjCgb0B42DQbUR9VOpoOOyKlxusQLpXmBJlP3d0dCfaWGvmsqfar7ajGbmP9lzVh7xXbCgyjWGLDZR14siA7JZGvS5RKZFkMDlEluZiWsTyVl2twmY47gLK68DLXzvFPIFyp2rlSEmdJwBCdwBg5cQAmuoQxVYIDwCM/wYt1ZT9ar9TYrTVnznkP4I+v9B2/tkRw=</latexit>

O
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so prove
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19. Given:  SJ PR⊥ , TJ RQ⊥ , RP RQ≅  

  J is the midpoint of PQ  
Prove:  ≅ SJR TJR  
 
 
 
 

 

 
 

  

 

Statements Reasons 
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Plan : ASJREATJR by AAS
if <1 = r2

,

So proove
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APIREAQTR

by gSg



 

20. Given:  AB AC≅ , AD  bisects BAC∠  
Prove:  DBC DCB∠ ≅ ∠  
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so first
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21. Given:  BAD BCD∠ ≅ ∠ , D is the midpoint of AC  
Prove:  AE CE≅  
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12 prove
ABEA=ABEC

(SAS)

by showing <1 =LI
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22. Given:  ⊥BE AC , ⊥AD BC , ≅EF DF  
Prove:  ≅ AEB BDA  
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<latexit sha1_base64="Dp7sTckmi1HjykdRJcKlsEDlSmk=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdERvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sylUnm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AVq1kQ4=</latexit>

A

<latexit sha1_base64="o78y2gbGtT/Wn3R63kMADHVz5is=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdQRvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sylUnm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AVw5kQ8=</latexit>

B
<latexit sha1_base64="UA0kvv+He3Zumy4Y9i1NJV7dzfY=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdgTSWCZgLJCHMTs4mY2YvzMwKYUlpZWOhiK1PkcqHsPMZfAknl0ITfxj4+P9zmHOOGwmutG1/Wam19Y3NrfR2Zmd3b/8ge3hUV2EsGdZYKELZdKlCwQOsaa4FNiOJ1HcFNtxheZo37lEqHga3ehRhx6f9gHucUW2sarmbzdl5eyayCs4Cctcfk+r3w+mk0s1+tnshi30MNBNUqZZjR7qTUKk5EzjOtGOFEWVD2seWwYD6qDrJbNAxOTdOj3ihNC/QZOb+7kior9TId02lT/VALWdT87+sFWuv2El4EMUaAzb/yIsF0SGZbk16XCLTYmSAMsnNrIQNqKRMm9tkzBGc5ZVXoX6Zdwr5QtXOlYowVxpO4AwuwIErKMENVKAGDBAe4RlerDvryXq13ualKWvRcwx/ZL3/AF29kRA=</latexit>

C

<latexit sha1_base64="Uvmz+VucDj0CoHNi2uWXt5jBMSw=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdAREsEzAXSEKYnZxNxsxemJkVwpLSysZCEVufIpUPYecz+BJOLoUm/jDw8f/nMOccNxJcadv+slIrq2vrG+nNzNb2zu5edv+gpsJYMqyyUISy4VKFggdY1VwLbEQSqe8KrLuDq0lev0epeBjc6mGEbZ/2Au5xRrWxKtedbM7O21ORZXDmkLv8GFe+H47H5U72s9UNWexjoJmgSjUdO9LthErNmcBRphUrjCgb0B42DQbUR9VOpoOOyKlxusQLpXmBJlP3d0dCfaWGvmsqfar7ajGbmP9lzVh7xXbCgyjWGLDZR14siA7JZGvS5RKZFkMDlEluZiWsTyVl2twmY47gLK68DLXzvFPIFyp2rlSEmdJwBCdwBg5cQAluoAxVYIDwCM/wYt1ZT9ar9TYrTVnznkP4I+v9B2DFkRI=</latexit>

E

<latexit sha1_base64="C8Gxvs1QyUB0LFJO8hs2s5YPDvE=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdAUEsEzAXSEKYnZxNxsxemJkVwpLSysZCEVufIpUPYecz+BJOLoUm/jDw8f/nMOccNxJcadv+slIrq2vrG+nNzNb2zu5edv+gpsJYMqyyUISy4VKFggdY1VwLbEQSqe8KrLuDq0lev0epeBjc6mGEbZ/2Au5xRrWxKtedbM7O21ORZXDmkLv8GFe+H47H5U72s9UNWexjoJmgSjUdO9LthErNmcBRphUrjCgb0B42DQbUR9VOpoOOyKlxusQLpXmBJlP3d0dCfaWGvmsqfar7ajGbmP9lzVh7xXbCgyjWGLDZR14siA7JZGvS5RKZFkMDlEluZiWsTyVl2twmY47gLK68DLXzvFPIFyp2rlSEmdJwBCdwBg5cQAluoAxVYIDwCM/wYt1ZT9ar9TYrTVnznkP4I+v9B2JJkRM=</latexit>

F

<latexit sha1_base64="pZRJoHk8Wl8D1nHBXUCwVPvgxiQ=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdAS0sEzAXSEKYnZxNxsxemJkVwpLSysZCEVufIpUPYecz+BJOLoUm/jDw8f/nMOccNxJcadv+slIrq2vrG+nNzNb2zu5edv+gpsJYMqyyUISy4VKFggdY1VwLbEQSqe8KrLuDq0lev0epeBjc6mGEbZ/2Au5xRrWxKtedbM7O21ORZXDmkLv8GFe+H47H5U72s9UNWexjoJmgSjUdO9LthErNmcBRphUrjCgb0B42DQbUR9VOpoOOyKlxusQLpXmBJlP3d0dCfaWGvmsqfar7ajGbmP9lzVh7xXbCgyjWGLDZR14siA7JZGvS5RKZFkMDlEluZiWsTyVl2twmY47gLK68DLXzvFPIFyp2rlSEmdJwBCdwBg5cQAluoAxVYIDwCM/wYt1ZT9ar9TYrTVnznkP4I+v9B19BkRE=</latexit>

D

<latexit sha1_base64="HdQ1xNuTHvKHbwPMpi77XNBhtK4="></latexit>

BE ? AD, CD ? AE, EF ⇠= DF,
<latexit sha1_base64="xOqnzsZibsXCY0w6Q0IfNKu/RKs=">AAACCnicbVDLSsNAFJ34rPUV7dLNaCm4KomL2mXFBy4r2Ac0oUymk3ToZBJmJkIJ3Qlu/BU3LhRxK36AO/0Av8APcPpY1NYDFw7n3Mu993gxo1JZ1qexsLi0vLKaWcuub2xubZs7u3UZJQKTGo5YJJoekoRRTmqKKkaasSAo9BhpeL3Tod+4IULSiF+rfkzcEAWc+hQjpaW2ue8oQREPGIEnF+fQwREP4LR21jbzVtEaAc4Te0LylVzh9uf9+6vaNj+cToSTkHCFGZKyZVuxclMkFMWMDLJOIkmMcA8FpKUpRyGRbjp6ZQALWulAPxK6uIIjdXoiRaGU/dDTnSFSXTnrDcX/vFai/LKbUh4ninA8XuQnDKoIDnOBHSoIVqyvCcKC6lsh7iKBsNLpZXUI9uzL86R+VLRLxdKVTqMMxsiAPXAADoENjkEFXIIqqAEM7sADeALPxr3xaLwYr+PWBWMykwN/YLz9Am/vneY=</latexit>

4AFE ⇠= 4AFD

Plan : prove AAFEEAAFD by SSS

Plan B AAS
C

1 X + , S-E
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D I ET

if 1 = 12,E EAB



 

23. Given:  ,QDA UAD QD UA∠ ≅ ∠ ≅  
Prove:  QDR UAR∆ ≅ ∆  
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24. Given: ≅ ⊥ ⊥, ,GI JH GH HI JI HI  

Prove:  GK JK  
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

Statements Reasons 
  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

H I

JG

K
<latexit sha1_base64="AnEOYgP1pGKos1qI9uBvg2BRkIk=">AAACCnicbVDLSgMxFM3UV62vqktBo0VwVWZc1O4suFDspgX7gHYomTRtQzPJkGSEMsxS3Pgrblz4wK1f4M5vcO3e9AFq64HA4Zx7uLnHCxhV2rY/rMTc/MLiUnI5tbK6tr6R3tyqKhFKTCpYMCHrHlKEUU4qmmpG6oEkyPcYqXn9s6FfuyZSUcGv9CAgro+6nHYoRtpIrfR+Uxh7mI7OizFsYsG78Ee7LMatdMbO2iPAWeJMSOb0a/e5/HmzV2ql35ttgUOfcI0ZUqrh2IF2IyQ1xYzEqWaoSIBwH3VJw1COfKLcaHRKDA+N0oYdIc3jGo7U34kI+UoNfM9M+kj31LQ3FP/zGqHu5N2I8iDUhOPxok7IoBZw2AtsU0mwZgNDEJbU/BXiHpIIa9NeypTgTJ88S6rHWSeXzZXtTCEPxkiCHXAAjoADTkABXIASqAAMbsE9eARP1p31YL1Yr+PRhDXJbIM/sN6+AdlYnrY=</latexit>

GK ⇠= JK

Plan i
,E SoLG = 25

THE FI

- & AGHE
17

- 1t +2 ~ ASKI

AAS

Is Th , c 1 given
I#I Reflextive

2, #I = #I 2.

3. A GHI EAJIH 3 . HL

4 LG ELf 4, CPCTE

EHEJI
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AGHK =ASKI 6 .
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7 - TEF T : CPCT



25. Given: ∠ ≅ ∠ ≅,BPQ DPQ AP CP  

Prove:  ≅QB QD  
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 

Statements Reasons 
  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

<latexit sha1_base64="o78y2gbGtT/Wn3R63kMADHVz5is=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdQRvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sylUnm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AVw5kQ8=</latexit>

B

<latexit sha1_base64="Dp7sTckmi1HjykdRJcKlsEDlSmk=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdERvLBMwFkhBmJ2eTMbMXZmaFsKS0srFQxNanSOVD2PkMvoSTS6GJPwx8/P85zDnHjQRX2ra/rNTK6tr6Rnozs7W9s7uX3T+oqTCWDKssFKFsuFSh4AFWNdcCG5FE6rsC6+7gepLX71EqHga3ehhh26e9gHucUW2sylUnm7Pz9lRkGZw55C4/xpXvh+NxuZP9bHVDFvsYaCaoUk3HjnQ7oVJzJnCUacUKI8oGtIdNgwH1UbWT6aAjcmqcLvFCaV6gydT93ZFQX6mh75pKn+q+Wswm5n9ZM9ZesZ3wIIo1Bmz2kRcLokMy2Zp0uUSmxdAAZZKbWQnrU0mZNrfJmCM4iysvQ+087xTyhYqdKxVhpjQcwQmcgQMXUIIbKEMVGCA8wjO8WHfWk/Vqvc1KU9a85xD+yHr/AVq1kQ4=</latexit>

A

<latexit sha1_base64="R80d9jvs7ye2G1wFtvtOOeJaPWM=">AAAB6HicbVC7SgNBFL0bXzG+opaCLAbBKuxaxHQGbCwTMA9IFpmd3E3GzM4uM7NCWFJa2VgoYutXpPIj7PwGf8LJo9DEAxcO55zLffgxZ0o7zpeVWVldW9/Ibua2tnd29/L7Bw0VJZJinUY8ki2fKORMYF0zzbEVSyShz7HpD64mfvMepWKRuNHDGL2Q9AQLGCXaSLXqbb7gFJ0p7GXizknh8mNc+344Hpv8Z6cb0SREoSknSrVdJ9ZeSqRmlOMo10kUxoQOSA/bhgoSovLS6aIj+9QoXTuIpCmh7an6uyMloVLD0DfJkOi+WvQm4n9eO9FB2UuZiBONgs4GBQm3dWRPrra7TCLVfGgIoZKZXW3aJ5JQbX6TM09wF09eJo3zolsqlmpOoVKGGbJwBCdwBi5cQAWuoQp1oIDwCM/wYt1ZT9ar9TaLZqx5zyH8gfX+A3FxkR0=</latexit>

P

<latexit sha1_base64="UA0kvv+He3Zumy4Y9i1NJV7dzfY=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdgTSWCZgLJCHMTs4mY2YvzMwKYUlpZWOhiK1PkcqHsPMZfAknl0ITfxj4+P9zmHOOGwmutG1/Wam19Y3NrfR2Zmd3b/8ge3hUV2EsGdZYKELZdKlCwQOsaa4FNiOJ1HcFNtxheZo37lEqHga3ehRhx6f9gHucUW2sarmbzdl5eyayCs4Cctcfk+r3w+mk0s1+tnshi30MNBNUqZZjR7qTUKk5EzjOtGOFEWVD2seWwYD6qDrJbNAxOTdOj3ihNC/QZOb+7kior9TId02lT/VALWdT87+sFWuv2El4EMUaAzb/yIsF0SGZbk16XCLTYmSAMsnNrIQNqKRMm9tkzBGc5ZVXoX6Zdwr5QtXOlYowVxpO4AwuwIErKMENVKAGDBAe4RlerDvryXq13ualKWvRcwx/ZL3/AF29kRA=</latexit>

C

<latexit sha1_base64="pZRJoHk8Wl8D1nHBXUCwVPvgxiQ=">AAAB6HicbZC7SgNBFIbPxluMt6ilIINBsAq7FjGdAS0sEzAXSEKYnZxNxsxemJkVwpLSysZCEVufIpUPYecz+BJOLoUm/jDw8f/nMOccNxJcadv+slIrq2vrG+nNzNb2zu5edv+gpsJYMqyyUISy4VKFggdY1VwLbEQSqe8KrLuDq0lev0epeBjc6mGEbZ/2Au5xRrWxKtedbM7O21ORZXDmkLv8GFe+H47H5U72s9UNWexjoJmgSjUdO9LthErNmcBRphUrjCgb0B42DQbUR9VOpoOOyKlxusQLpXmBJlP3d0dCfaWGvmsqfar7ajGbmP9lzVh7xXbCgyjWGLDZR14siA7JZGvS5RKZFkMDlEluZiWsTyVl2twmY47gLK68DLXzvFPIFyp2rlSEmdJwBCdwBg5cQAluoAxVYIDwCM/wYt1ZT9ar9TYrTVnznkP4I+v9B19BkRE=</latexit>

D
<latexit sha1_base64="TKPE+abA5lcfZp2OWgIEgJzPssQ=">AAAB6HicbVC7SgNBFL0bXzG+oiltFkPAKuxaxJQBG8sEzAOSJcxO7iZjZmeXmVkhLOnsbCwUsfVj/AA7/QC/wA9w8ig0euDC4Zx7ufceP+ZMacd5tzJr6xubW9nt3M7u3v5B/vCopaJEUmzSiEey4xOFnAlsaqY5dmKJJPQ5tv3xxcxv36BULBJXehKjF5KhYAGjRBup0ejni07ZmcP+S9wlKdYKpduv18+Pej//1htENAlRaMqJUl3XibWXEqkZ5TjN9RKFMaFjMsSuoYKEqLx0fujULhllYAeRNCW0PVd/TqQkVGoS+qYzJHqkVr2Z+J/XTXRQ9VIm4kSjoItFQcJtHdmzr+0Bk0g1nxhCqGTmVpuOiCRUm2xyJgR39eW/pHVWdivlSsOkUYUFsnAMJ3AKLpxDDS6hDk2ggHAHD/BoXVv31pP1vGjNWMuZAvyC9fINpj6RSA==</latexit>

Q
↑ -

~ 1 Plan

↓ ABQP= ADAP

by SAS



26. Given: ≅ ≅ ⊥ ⊥, , ,EO ID ET IR TD EI RO EI  

Prove:  TI RE  
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